$5-9Ndo /1]

\/ Rz 40 (/)

x
z
S
al
S
=
S o Ix45°
S 1)
= \/ Rz 20

o

O

©

s +H+————-——-—- I

2x45°
§ 35
o
>
§ 55
=
g
o
=
<
i 1. * Pa3mep dnsa cnpabok.
S 2. HeykaszaHHslie npede/ibHbie omk/oHeHUs pasmepob: H14, hi4, IT14/2.
5 3. Ocmpsie kpoMKU npumMynume.
S a]
(=]
3 CTITPP.M16-55
'§ Aum._| Macca | Macwmad
Sl Wsml fuem| N°dokym. | odn. |fama
Paspad. _|CumnukoB 01201 [laney 0,09 2:1
< [Ipob.
S| [T_konmp. flucm | lucmo8 1
< Hay4.omd.
S| |f_KoHmp. Cmase 12X18H10T FOCT 9941-81
= [ums,
KonupoBan ®opmam As




